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4 A 9, 9000 | 12, 00O0H

5 A 2 g 9, 900M | 12, 000 el K

6 H 6 A26H 9, 900M | 12, O0O0H 21, 900H

7H 7H26H 9, 900M | 12, O0OO0OH 21, 900HM

8 H 8H28H 9, 900M | 12, 0O00H 21, 900H

9H 9H26H 9, 900M | 12, 000H 21, 900H
10H|10H268 9, 900M | 12, 0O00H 21,900%1?&@W%
11A|11H27H 9, 900M | 12, 000M 21, 900H ®W9N%%
12HA|12H26H 9, 900H 9, 900M B

1A 1A26H 9, 900M 9, 900MH

2 A 9, 900M

5 2H26H SO0 19, 800H
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957 IRAEE 9,000 1,500/ 1,500{ 1,500[ 1,500| 1,500 1,500
REXLEESRESS 3,000 500 500 500 500 500 500
BIE (R¥F—HHE) 31,000 2,0000 2000/ 2000 4,800 10500( 9,700
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AR —viREt 4 —BEE 1613] 1,613
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ERE 1,100 600 500
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#im (E ) 2,900 900 1,800 200
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EERESMR 1,080 20| 1,060
SREFIR 980 980
TiEgE 651 37 54 280 280
= &t 96,000] 12,000[ 12,000[ 12,000] 12,000 12,000( 12,000] 12,000] 12,000




